Frad AN RLANRNAEI2EERS 287 /%
113.01. 10 fei* § ki 6

pip | & = £ p 0%

2.15 | » [FHAREF P ~ (F5 TP ~ &KFF cpr A~ ¥ (13:30-15:00)

216 | I (5289 BFP ~ 2L RFIFQ11-2.17) ~ shkts BAETT ~ 4 EFLF 3%
2,17 | = [Errrdr G 2.10) A RB S LA~ 3RS BAFL « 4 i 3Gt 2.15)
2.22 | v |2-6#mmEFIEN

2.28 | = Hexx APl op

3.01 | T |R&E D

3.04 | - |## &3 (3.04-3.05)

3.06 | = B XIEH

3.12 | = PBbramEgsHTIE ‘
3.13 | = |BRiFm |
3.20 | = |6#E =B E27(3.20-3.22)

3.30 | & (MR ERFEATER L E

4.01 | - WERIP(EHRAITEREATER X €)

4.03 | = |[BgaimiEd s KEFF F Y (14:15-15:45)

4. 04 (323 Sl p

4.05 | I | EFLEEE]LP

4.08 | - [p&EXI6 A A AR F

L0 | = et 2P % 6 1 B (41074, 28) ~ 2 g5t B 4 kg (4. 10
' T |4.28)

4.18 | = (B¢ 2 H7E(4.18-4.19)

4.23 | = |FHURTFEBM AR

4.24 | = |FWE2FEEEH(4.24-4.26) A2 CH-RFRER B

502 | = BB ER

5.06 | — [1-3 & sfep F > s (5. 06-5.10)(%37)

5,10 | T |*2 #FxEH F(09:30-12:00)

5.11 | = |l #3724 5 p (437)

5.1T | I |#EEIRE

5.28 | = |6 & & k:=E (5.28-5.29)

5.30 | = |6 = %= Pt F(5.30-5.31)(%F37) ~ 5 & siv 4 & p|(5. 30-5. 31)

6.01 | = |& k¥ ¥(6.01-6.07)

6.05 | = |fir¢ ik

6.07 | T 6% Bikts RBARFT - BEFTE (5 F 3% p

6.10 | - | = &%l

6.12 | = |F- &£ 48

6.14 | 7 (¥ 2F2 L (H3)

6.18 | = |I-b &% %> 5=¥(6.18-6.19)

6.21 | I |E¥pH

6.23 | P PR 113 & R KEFEREAF R F(ET)

6.24 | - |l4&B3TEEF R




6.

FRETFGEMES 10 £ R BARIL 25 BB EEITE (S F %P

2 MR E L F R (19:00)

[

6.

26 AEITE PP (¥ L6 EF %)

Il 6.27

e B |

6. 28

Ry

R = 12:00%5)

00 | - [REmR4

“fg‘: Pty

(=)l ~2#%&5 8- 2% > 16:005— %8 5 58— 2 ~ 7 3L 5 12:40 32
—1’{5‘3 °

()34 #%bEdH—- ~2 v 2% Fko 16:00 3v- g 5 BT L X 5 12:40 5t
_e;;:go

(Z)o~b6#&EH- ~2 v ~ T P2 =x 5 16:00 5e— H o
(m)1-6#F&bd=FkLx »12:00 58— %8 o

(T )&t 1~2#%16:00%8 ;12 #5BHFTE J4-5-6#%17:35 %% -
G FEFFEF R RIPEL T AEF B R 02 R



